Second Semester Review
Packet — Short Answer Teacher

M308 — Advanced Algebra 2 Name }/) &3, DW}\

Chapter 4: Inverse Functions, Exponential Functions, and Logarithmic Functions

1) (calculator) Sketch a graph of the following:

a) f(x)=4" b) f(x)=e
___/|‘ \,\,_»
A
o) f(x)=e™ "> mall sure t d) f(x) =log, x

e hew gl /%(3 g

- MSM& A2 W

J

2) Solve 4" =2 0% ul de witi sume

fwle PM i loon slo xInq= fu2 bdSe
y*={n2

x _ (
WVK w(mwl: b dmb, flan Bundy /—L/ 7 ) ek %(’M —vgle
In 2=\
=\
3) Write the following in logarithmic form. X 2

a) 3* =81 b) 57 =é
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4) Write the following in exponential form.

a) log33/§=% b) log . t=a c) 10g4(/4)
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5) Find the value of the following
a) log,, 5 =¥ b) log,8 =X c)@2
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6) Write the following expressions as a sum, difference, or product of logarithms.
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7) Write the following as a single logarithm.

a) 3log, x—2log, y—log, m b) log, (x—2)+3log, x—log, 8
3
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olve: In(y+2)-In(y—-7)=In 30-3
e G e :7_—'2‘ =7 Y =10
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9) Solve: log:,r4(2+3)+log4 (z—3)=1
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10) Solve: 3** =5 11) (calculator) Solve: "’ =7
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12) (calculator) Solve: Iogx =2. 13) (calculator) Solve: 3" =2x+3
)
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14) (calculator) Solve: 2* = -3x+4 15) (calculator) Solve: hé x =1.967
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16) (calculator) How much would you need to invest in an account earning 3.25% interest
compounded weekly to have $15,000 after 8 years?
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17) Consider the function defined by f(x)=+4-x. Find f - (x) . Find the domain and
range for f(x) and for f_l(x) P £lx) {:(X> fGI/X)
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18) Find the inverse of the function f (x) =x"+1, x<0. Find the domain and range for f(x)

and for £ (x) _ ,?“(x) A
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19) (calculator) Find the future value if $3200 is invested at 4.35% compounded monthly for

7 years. e )
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20) (calculator) Find the future value of $1750 compounded continuously for 5 years at
3.25%.
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